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} Answer the following Questions {Jﬁﬂ =5 qu;.‘.lﬁ I_;\';___T
} S.No Questions - Marks Level
/ A | Solve y?dx+ (x* —xy—y*)dy =10 P—.
5 C01.C02 Apply
Solve(D? — 3D + 2)y = coshx
: =1
(OR) g
2 | A [Solve (D — 6D + 13)y = Be* sin2x 5 COo1.cO2 | Apply |
' luate
Solve (D% — 1)y = I%JBV the method of Uariatinf'l of 5 coz Eva
B paramelers ’
A | Solve (D? +2D? + D)y = e** +sin2x ][ 5 C01.C02 Apply
3
| B | Solve (x*D? —xD + 2)y = xlogx [ 5 CcO2 Apply
X (OR) —
/ The charge q(t) on the capacitor Is given by D.E., 1{1-:;2—': + 10 CO3 Evaluate _’.r’|
IZDE + 10009 = 17 sin 2¢t. At time zero and the tharge on the /
' capacitor is ﬁ coulomb. Find the charge on the casacitor for ;'/
| t>0. /
& .
5 | Solve((1+x)*D? + (1+x)D + 1)y = 4cos[log(1 + —
(OF2) F———t
Solve =X+ 5x — 2y = ¢, = | 10 e
olve — x y—-t,a-+2x+y- 0 COo3 ) Apply I
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——— Questions B i — -
S.No - ] equations by the elimination
T Form the Partial differentia’ €q e =0 B
of arbitrary functions from P(x+ytz 5 —
B 50Ive::’{y-z)p+y2(l-x)q=II(""J’) °P
(OR)
2 ovedrizs+ot=e> 7 10 doa Apply
2 2 z: = 29 .
A [ Find the angle of intersection of the spheres x° +)° + 5 .
and X +y 42’ +4x-6y—8z—47=0atthe point (4,-3,2) . CO4 Remembe
3 B | If zis a differential function and ¢1is a&ﬁi@ualsiuiar . —
function then prove that div(® @)=(grad @) .a+ @ diva CO4 uate
' (OR)
- — _ Ui
/ Prmﬂuth(an}:V(V.a] Véa " o
Fediif F =y +2y j+xz’kand S is a surface of ‘
5 [evage [[Fediit F=yd+2y’ j+xka o . .
]
the cylinder x? + y* =9 contained In the first octant between the
planes Z=0 and Z=2
(OR) -
Verify Stokes theorem for  F =—)"7 + x" J ,where Sis the circular 10 CO5 Apply
disc x? +y*<1,z=0
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